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10.

11.

12.

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define Costing.

SIL&sNWE cuanTuwimI.

What is Profit centre?

Ul yetefl ereirmmed eresen ?

What is abnormal loss in Process Costing?
SIFMGMTET BLL LD GTGITMHTE) GTETE ?

What is By Product?

@ anewt GLIT(HET GTETDTE 6TEIme ?

Who is a Contractee?

GMEHTIQ TMT&lq GTEITLIGU T W ?

Give the formula for EOQ.

EOQ e&fler @gsdrs5ms er(psis.

What do you mean by Variance Analysis?
wrourk LEGUUTIG GTETMITE) ETEIET ?
Write down the formula for Replacement method.
wrppepepuilear GSHTsms TWais.

What is meant by Abnormal Effectives?
SETHTTET lENETE|SET GTETDTE) CTETET ?
Define Direct labour.

Cririy 2 epliL) euanrumI.

What is labour turnover?

Qamflerert &pHél 6is (pepm ereTmmed 6T6HTE ?

What is mean by key factor?

udled amyentl eTemmmTed GTETET ?
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14.

15.

16.

17.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Explain the merits of Contract Costing.

RUILIBS SEESSET HETENLOSEET 68l6Té 8.

From the following particulars prepare a Cost Sheet showing
total cost and profit made. Direct material Rs. 8,000 direct
expenses 8,500, administrative overheads 4,000, factory
overheads 5,000, selling overheads 2,500, sales 40,000.

Gemeu@md  efurmigemers Csmar(h L &5 DEms wmf&s.
masyuul L Gorg  epeoliCummlger . 8,000, Crrg  GFoe|ser
g. 8,500, <eies GCuohbsoe|sar p. 4,000, DD
whEFeysedr @, 5,000 elpuemer Cuohblsoeser ep. 2,500,
ellHLiener em. 40,000.

Product A is obtained after it passes through three distinct
processes, 2,000 kgs of material at Rs. 5 per kg were issued to
Process I. Direct wages amounted to Rs. 900 and production
overhead incurred was Rs. 500. Normal loss is estimated at 10%
of input. This wastage is sold at Rs. 3 per kg. The actual output
1s 1,850 kg. Prepare Process I account.

QummeT A eTerugl epeTml Lilg(pennsamers sLbg 2 HUSE < flarng.
@uug  wepuler 2000 &G epeLIQUTHLE . 5 eiHb
ugepn — I &g odefh) Qeuwniu@dpg. Corg el ep. 900
wHOIL 2 Husd CopHllsweyser . 500 D@GD. FTSTTE@T HLLLD
o defi g6 10% asPleys Cummlser SHCom qearm p. 3 6isb
dpueer Qelwiu@dng. o a@rewwrear deleafliur®h 1850 kg.
uigperp — I sawrsdlanar swimm Cguis.

Explain the different factors to be considered while taking a
‘Make-or-Buy’ decision.

‘o (HUMESHD DG UTEIGSD (WPlpbleuBslerGLITg eThidsliuL
Couenrigw LGeum cuenswner sryanflaamer aileul.

From the following calculate :

(a) Maximum stock level;

(b) Minimum stock level;

(¢) Re-order level,

Minimum consumption 240 units per day
Normal consumption 300 units per day
Maximum consumption 420 units per day
Re-order quantity 3600 units
Re-order period 10 to 15 days
Normal order period 12 days.
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Epau(peuareuheny sem(h 191 &He b
(&) dlsuleg Hleva,

(<) G@ppsULs Hlaw,
(@) wneuflens Hlene

GSMDHSULF HI&T6] 240 units per day
@QueLner EHIsT6] 300 units per day
SHlsulF msTay 420 units per day
wpieuflens emey 3600 units
wpieuflens reLb 10 to 15 days
@uéurer smeb 12 days.

The P/V ratio is 50% and margin of safety is 40%. You are

required to calculate BEP and net profit if sales value is Rs.
50,00,000.

@eoru Sjerte| 6ldlsd 50% LOmID  UTHSTUL edhueer 40%.

Epsranild sseudsmer sarhligsse|bd. @eru BULLHD LeTefl

§5U orub efpuemer eleweulenar ep. 50,00,000 WLTE @)(HEGLD
umg.

Differentiate between Marginal Costing and Absorption Costing.
USs ellaTés L &sD HmID 2 MErEsH L EHeNw6lld 2 ¢rar
Caupum’ e gams.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

What are the advantages and disadvantages of Job Costing?

uanfl @iLsseflweden Herend LHMILD SEHLDSET WITEG ?

A batch of 600 units was introduced in a process at 20 per unit.
500 units were completed and transferred to the finished goods.
The normal process loss was 20% of the input and the scrap is
normally sold at 3 each. The labour and overhead expenditure,
incurred in the process amounted to Rs.1,320. You are required
to show the process and abnormal gain accounts.

@@ CQsrEduler 600 o drafhiser LiyHlaOssETs @@l AO@ F. 20
Qisb  PWPSILBSSILL L. 500 OGS WwHm QuHDg
wHnIb @mnig QeEnwtiul L QurmeTTs HOES UigdE DIHOLILILLG.
ugBlepooullesr o erefiigdd 20%  FTHMTFERT BULLOME HHSLIUL(H
CogQib @@ oG . 3 o lssdd grsryanrons ollbHLemer
Qelwir gl ughleveudd ghul L el wHmibd CuohHbswessTs
Qewinl L Qewe] fp. 1320 HGh. Ugblaosd sarsE@ WLHmID
SFTTSTTETLOTET Q0T — SEESMS SHTL_(Hs.
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23.

From the following details you are required to prepare Contract
Account for the year ended on 31.12.2011.

Rs.
Materials directly purchased 1,80,000
Materials issued from stores 50,000
Wages 2,44,000
Direct expenses 24,000
Plant purchased 1,60,000
Establishment charges 54,000

The contract price was for Rs. 15,00,000 and upto 31.12.2011
Rs, 6,00,000 had been received in cash which represented 80% of
work certified. The materials at site unconsumed were valued at
Rs. 15,000. The plant was to be depreciated by Rs. 16,000.
Prepare the contract account.
Epasramib cHlugmhiger (T @UILBS e sl o0l (BB
QasrRssiul_(Herearg).
1.
gpeliQurmLser Corgwns eurnidug 1,80,000
epOUIQUTHLSET SenLudled Syl L g| 50,000

&6 2,44,000
Crrlg Cae,ser 24,000
Qumdl curnidlwig 1,60,000
erevLmAeSleigGl et CFawe|ger 54,000

@uUuBgelene 15,00,000 wHMIDd 31.12.2011 eueny GQupriLLL
Qrrésd  6,00,000 @&6grens srampeissiul L Ceuameufler
wHUGD 80% Y@b. epeliCummlger o LGUTH&GsTsSg h. 15,000
Qumi Ssrer Csuiomerd ¢p. 16,000. @UILUGBS SewrdsdHleaer swmi
Qeuis.

A transporting company is running 4 buses between two towns
which are 50 kms apart. Seating capacity of each bus is 40
passengers. The following particulars were obtained from their
books for April 2008.

Rs.
Wages of drivers and conductors 2,400

Salaries to office staff 1,000

4 62452/CPZ6A/CPG6B



24.

Diesel and other oils 4,000

Repairs and maintenance 800
Taxes and insurance 1,600
Depreciation 2,600
Interest and other charges 2,000

Actual passengers carried were 75% of the seating capacity. All
the four buses run on all days of the month. Each bus made one
round trip per day. Find out the Cost Per Passenger km.

em Cumbg Hneard 4 Cupbgiser, 50 km  gryb QukiEdng.
eeiCleurm CumpSaId o der D@L uFd 40 LwallsEhss
o flugl. Wereupd &aUDSEET elifd 2008 b LIESHHEG 2 fwg.

€.
@UOBT wHmID BLEGET gedl 2,400

SIS LIGRTWITT FLDLIGTD 1,000
leged LOOMID QST pufled 4,000
L&Y whmid Loy 800
cufl HDID STLISE 1,600
Cauinmend 2,600

aul iy wHmb @sr tewesar 2,000

> @ewmer Lwaflger o U smpb eugdl 75% 2 6Terg WIS
Smansg BTEHD BrerE@ CUmbgsEbD @usslLbhSng. eeubleumm
CuU@BBBID @b eIl L &HO BreT @emis@ sHH eiBADS. Lwueasd
km < sssdmar savsdlhHs.

Following particulars have been taken from the books of
XYZ Ltd.

Calculate :

(a) P/V ratio;

(b) Break Even Sales;

(¢) Sales required to earn a profit of Rs. 5,00,000.
Particulars 2004 (Rs.) 2005 (Rs.)

Sales 40,00,000 50,00,000
Profit/Loss  2,00,000 (Loss) 2,00,000 (Profit)
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Epsranid sseusEaT XYZ Lsss55d @Qmhgl eThSSIULL. ()
P/V (<) BE &ipuenar (&) @erubd ep. 5,00,000 Gum eSlwmuimyid
ST5E (h 5.
efleuymisar 2004 (Rs.) 2005 (Rs.)
AL er 40,00,000 50,00,000

@eru/prrid  2,00,000 (Loss) 2,00,000 (Profit)
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